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Solving Word Problems Using
2 Digit by 1 Digit Addition

1. Sarah piclcecl 57 apples, then 1)011811t D more. How many

apples does she have in total?

Solve : A +D =42 apples

2. Jack has 48 marbles and found 3 more. How many marbles
does he have altogether?
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5 A bakerg sold 62 cupcakes in the morning and 4 more in
the afternoon. How many cupcakes in total?
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4. There are DO students in class. 7 more joinecl. How many
students are there now?
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3. Emma had 79 stickers. She gave 0 to her friend. How many
stickers does she have left?
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0. Tim has 84 baseball cards. He got 8 more from his uncle.

How many cards does he have now? ~
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